
Time: 10 Minutes Paper Math 5 (T1) Total Marks: 10

1st Month, 1st Week, 2nd Day Syllabus: Unit # 1  Exercise #.1 Q # (2 + 3)

Q.No.1 Encircle the correct answer from the following choices. (5)


i. 386 219 in expanded form:  386 219

(a) 300 000+90 000+6 000+200+10+9 (b) 300 000+80 000+6 000+200+10+0

(c) 300 000+80 000+6 000+200+10+3 (d) 300 000+80 000+5 000+200+10+6

ii.732 051 can be written as in expanded form:  732 051

(a) 700 000 + 30 000 + 200 + 50 + 1 (b) 700 000 + 30 000 + 2 000 + 500 + 10
(c) 700 000 + 3000 + 200 + 50 + 1 (d) 7000 + 3000 + 200 + 50 + 1

iii. Six hundred twenty three thousand four hundred ninety five in numbers:







(a) 623 495 (b) 633 495 (c) 623 595 (d) 628 495
iv. Four hundred thirty two thousand four hundred one, in numerals:


(a) 423 402 (b) 432 104 (c) 432 401 (d) 432 403

v. Eight hundred seven thousand eight hundred in numerals:


(a) 807 800 (b) 870 080 (c) 870 800 (d) 807 008

Q.No.2. Match column A with column B.        (5)  B  A 
Column A ColumnB

Eight hundred seven thousand eight

hundred  808  808

Two hundred seventy-eight
thousand seventy-eight









206  002

Eight hundred eight thousand eight
hundred eight


807  800

Two hundred seven thousand five
hundred five


278  078

Two hundred Six thousand two


207  505
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